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Question 1
Question Type: MultipleChoice

Which of the following description about Linux is incorrect?

Options: 
A- Putty is a ssh client

B- WinSCP is a SFTP Client

C- Configuring IP with 'ipconfig'

D- rwx means read/write/execute

Answer: 
C

Question 2
Question Type: MultipleChoice



Data Center Bridging Protocol(DCB) is used to ensure no packet loss in Ethernet. Which of the following need DCB to support?

Options: 
A- FCoE

B- IP-SAN

C- FC-SAN

Answer: 
A

Question 3
Question Type: MultipleChoice

Retailers can be divided into three categories according to their business model. Department stores, such as Galeries Lafayette and

Pinault Printemps Redoute Chain stores, such as Walmart and 7-Eleven. E-Commerce companies, such as Amazon and Alibaba.



Options: 
A- TRUE

B- FALSE

Answer: 
A

Question 4
Question Type: MultipleChoice

An Oracle database logically consists of blocks, partitions, segments, and tablespaces. Which of the following descriptions of Oracle

Database Logical Structure is incorrect?

Options: 
A- An extent is a logical unit of database storage space allocation made up of a number of contiguous data blocks

B- A segment is a set of extents that contains all the data for a specific logical storage structure within a tablespace

C- One segment consists of multiple blocks, One block consists of multiple extents



Answer: 
C

Question 5
Question Type: MultipleChoice

Which of the following descriptions about RAID 2.0 is incorrect?

Options: 
A- RAID 2.0 divides disks into multiple contiguous storage space of a fixed size. Each storage space is called a chunk (CK).

B- Multiple CKs form a RAID group, that is, a chunk group

C- A CKG is divided into multiple small data blocks (extents)

D- Extents from same CKGs form LUNs

Answer: 
D



Question 6
Question Type: MultipleChoice

Which of the following technology can be used to virtualize an x86 server into multiple VMs?

Options: 
A- FusionStorage

B- Hypervisor

C- FusionCompute

Answer: 
B

Question 7
Question Type: MultipleChoice

Which of the following belong to HUAWEI Cloud Computing 3+1 Solution? (Multiple Choice)



Options: 
A- Desktop Cloud - FusionAccess

B- Big Data -Fusionlnsight

C- PaaS platform -FusionStage

D- Cloud OS - FusionSphere

E- Virtualization - FusionCompute

Answer: 
A, B, C, D

Question 8
Question Type: MultipleChoice

As a virtualization component in the FusionSphere solution, FusionCompute can virtualize resources and manage virtual resource pools.

Options: 



A- TRUE

B- FALSE

Answer: 
A

Question 9
Question Type: MultipleChoice

Which is the NO. 1 reason for enterprises to stay with cloud provider?

Options: 
A- High level of service and SLA performance

B- Competitive Pricing

C- Strong Relationship

D- Reputation as a leading cloud provider



Answer: 
A

Question 10
Question Type: MultipleChoice

FusionManager+FusionCompute can be used as the virtualization platform.

Options: 
A- TRUE

B- FALSE

Answer: 
A
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